B 7-3x=2x+11

@ 2(x-1) < —(9-4x)

@ 40 - x <108



2. oS UEAe 1ERY

@® 3(x-1)=3x-3 @ 4x+1-(x-2)
® —x+5<-1 @ 2x+7=23-x)

B x+2=2x4+2—x



-6 —x

O 2x-15

@ —x—-4=3x

7

© 2(x-4)+1

@ 3x-




vl

Os T &4 22 A

boies
rlo

£9

@D a=bolHa-c=b-co|t}

@ 3a+4=4-6b°]" a=-2b°|tt.
® gzgoludzazsbom.

@ ac=bcClHa=>hbolth(F, c#0)

® a+b=c+bOo]Hag=co|t}



3(x-5)

(x=3)

.

ul



® 3 B 4 @ 5 B 6

D 2



ol Kar)

=1

.

ul



i

NE A 7155 Met

wA19] Xl w2t A= Al

L

n

Ck-

=
=%

ct-




£

9. o

o
ol

Hog Uehl 7 % §2 AL

o

@© x 2289 5 E g3t AL x o 3 HjoA 7S W A} A},
- 2x-5=3x+7

@ xolA 55w AL x o 289} Zr}t. - x-5=2

® St Mol a 9< Abat 2 79t 1kg ol b ¥l = 3kg o] e
20000 o]t}
— 2a + 3b = 10000

@ gFwo] o)zt x Q1 AAFZEY 9] wlol= 36 o]th. — 4x = 36

® 100g ol x ¥l HA317] 600g 2] FH-2 10000 HFolct. —
6x = 10000



ax+b=2x->5a

@ 9 3 24 @ 48 3B 96

@D 6



11. x7F-3, -2, -1, 0, 1, 2, 3 5 ol off, th-3 WA 4] FolA] a7t
ymz] ¥zt ofE she?

® x-3=0 @ 4x+1=13
® -3(x-1)=-6 @ 3x+1=10
® 1(x+1)=1

9



5l x = a, 3x = b,

&

1S o]

AR
=2

d

9

]

A
ol

Hlo
o

— |

E A4 UEUAdE W, a+bxc 9

o|
o]

L=

)

cx = -14 9] A2 ot
& Fatolet,

s



stoiar.

27

2 (5x—3) = 6x — 22 2] 5}



a—Xx

o7t x =11 Y o], a 9] Zt-&?

3 0

@ -3

® -2






1 1
16. ‘ﬂ'@/ﬂ. §x+§ §x+140ﬁ7}04(3x 1)—23+ 2 —-/‘I_H—;I

2 i2tal ottt a O] s kel

o . a=



219 st e o), a o] oo

3 3 @ 4 ® 5



18.

ol

a

2x+ 2
3

|
=

@ o @ -1 ®

—1=ax+b 7} x 2 3ol TAQlo] T4+ A
,b ol tiste] a + b 9] 3He?



ta+b=

cCt
=]



a9

s

o] %7] ¢]

REER

ki

2x+3=ax—-19°] xof g

=
54

20.

@ a+3 ® a#-2

D a#2

B a+0



)



22,

A 5x = (x +2) = ax— (2x + 3) ol A] x ofl o] Fk

%—1 X
4 A Sh= a 9] 322

@D 3 ® 6



23.

5a—2b = 3a+2b 4 W, x of] TF+ AATAA] _1

O] o= x =

@D 6

3
§a+3b

2a—-b

@ 8

olc}.

3
qﬂ%ﬁ+%+;ﬂﬁ%7

3 10 @ 12 ® 14



ab + bc + ca at+b+c

it Dt e 470

24. a:b:c=1:2:3< 0, -
d a+2b+3c

o shg Ftelet.

Be-



25. O F A a+2x=3x-5% 3(x—a) = x+4 o] 7t T

2 _
o, 0 o grer
a-1

D 6 Q 7 3 8 @ 9 B 10



